Trig 4.1

Determine roots of polynomial equations *
Apply the fundamental theorem of algebra (# of roots) *

e
degree %)(q"g)(g—c;)(“' (X" =D
leading coefficient _Y.(\Q I *Algebra 2 Ch. 5
1 & Ch. 7

polynomial function 1:) T TR, W o

zeros (real)

L .
= 1

polynomial equation

Roots (can be real or imag.)

K=" =24
imaginary number U—l-
real number €+ 0 b
7

complex number E()]T‘ L ,‘\A O + 74’
Fundamental Theorem of Algebra ][ g,g{ o Oukf\l-/\

.]- mﬂﬁ*’\



y y s y . vy ¥
1 | \'l | 3
0 x ‘_‘\Ol YL x ,//A(; ™ lql f-‘m X & oI /AVJx
U™ T A

Degree 1 Degree 2 Degree 3 Degree 4 Degree 5

y=d-p Y Y

K+

FTA: equation of degree n has at most n real solutions

AU A
S AR A

Degree 3 Degree 3 Degree 4 Degree 4
1 x-intercept 1 x-intercept 2 x-intercepts 0 x-intercepts




State the degree and leading coefficient of each polynomial.
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Determine whether each number is a root of x3 — 5x2 — 3x — 18 = 0. Explain.
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Write a polynomial equatidg_of least degree
equation have an odd or even degree:
related function cross the x-axis?
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State the number of complex roots of each equation. Then find the roots and

graph the related functions. Use everything that you
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. Show a (small) table of values




14. Geometry A cylinder is inscribed in a sphere with a radius
of 6 units as shown.

a. Write a function that models the volume of the
cylinder in terms of x. (Hint: The volume of a
cylinder equals #r2h.)

b. Write this function as a polynomial function.
c. Find the volume of the cylinder if x = 4.

It's messy, don't be scared.
Exact answer (in terms of 1)



